
× 5

2

× 3
==

× × 96

==

× 9
× 5× 8×

× ×= × ×
96 9

= ÷ ×
86

=
5

5

5 83

= × ÷
5 93

86 5

= =

② × ÷ 1④1 ÷ ×
5 15 3

7

× 6× 9
= =

9× 1×
5× 8

1
2× 2× 7×

9 1 6 91
= × × = × ×

2 2 7 5 8

9 2 6 8
= ÷ ÷ = × ÷

2 1 5 5 9

9 2 6 8
① ÷ ÷ ③ × ÷ 1

・次の計算をしましょう。(うすい字はしっかりなぞりましょう。)

2 1 5 1

日にち：　　　月　　　日

名まえ

0.35

0.17
17

0.05

100
20

20

1

0.45

3

③ 確認

20



=
1

9

=

=

× 9× 5

9 5

5
=

8 =

= ÷ ×

4)2
2

× 3
=

× × 96
× 5× 8×

== (

× ×= × ×
96

5 83

5 93

86 5

× ÷
86

9 9

② × ÷ 1④1 ÷ ×
5 15 3

= ( 8) 7

× 6× 9
=

9× 1×
5× 82× 2× 7×

9 1 6 91
= × × = × ×

2 2 7 5 8

9 2 6 8
÷ ÷ = × ÷

2 1 5 5 9

9 2 6 8

=

日にち：　　　月　　　日

名まえ

9

・次の計算をしましょう。(うすい字はしっかりなぞりましょう。)

2 1 5 1
① ÷ ÷ ③ × ÷ 1

2 20

17

4

1

5

0.35

3

1

4

1

0.17

11

17

0.05

100
20

17

20

1

100
35

7

20

100

17
100

17
100

1

1

21

45

0.45

100
45

9

20

20

20

3

③ 確認 答え

80

22

20

17

27

17

11

4 1
2

20
20

11

11


